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AR—YRH5Ta—1)5

» single round-robin tournament
> 6F—LDBEFYEBRTo1—IL7E2Lb
> 23 A Home vs Away TS
> @F—LBEHEHOR/NMEEBEIT (B HI1]

> EEEREDER L (TFREL)
> 0-1Z# x, =1 ... slots Tivsj(i hXHome)

ijs

> 0-1Z# x.. =0 ... slots Tivsj(i AHome)Zx LAY

ijs

> IEE# 1T distance matrix D = [d,]

min. 2 2 2 Zdijxl-js

SES (€T JET
s.t. z (xijs + xjis) =1 (VjET,Vs €5)
L€T/{Jj}
Z(xijs + xji5) =1 (Vi,j ET( #j))
SES

xijS (S {0,1}(Vl,] € T, Vs € S)

A B C

B A 3

c On

D C [§

E [ B

F E D
i, A B CDE F
A 0 5 4 6 6 8
B 0 5 9 4 7
C 0 4 2 4
D 0 6 6
E 0 3
F 0

T={1,2,...,6) : team%E&
S={1,2,....5} : slot&e &
Away teamlI 1 & &2 H
BITITRSICEIZTS



AR—Y A5 1—1)2 4 ZCPLEXTHEL

> RO OMDIER
@ [Z74IVE)]—[FERN)]—[OPLTAL IR %EER
@ [FavzHb4]ZEEEA B SportsScheduling) L, 3AFRIZFI VI TS
U T4V EDORITIERDEN T

Y ETILOER M TRIDEEERCSELTL
AT—RDER LD MNBBEIHNELY

Q@ [TV

> JAVDIIORADI DI DERIZER
v [#8R1] — [configl] X HABEEBICEBLLGEVWEERTHRIS—I2HS
v ETILIT7AIL [SportsScheduling. mod] — [srt-di.mod]
v T —%2IJ74 )L [SportsScheduling.dat] — [srt-diex1.dat]

> BETILIF7AIL-T—3T77AI)IVEEB LIRTF (RR—IUSHR)
> [configlICETILIFAILET—R2T7A4ILEVRL, fEL<



AR—Y AR5 1—1)2 4 ZCPLEXTHEL
> BT ILIT7AIL (srt-di.mod) D B D ik

int i_max = ...;// F—LHBDARZFDRKIE
range I 1..1i_max;
range S = 1..1i max-1;// slot# = team#l-1

float d[I,I] = ...;// BEBE4THI| (size: IxI)

dvar int+ x[I,I,S] in @..1;// @-1%#(size: IxIxS) XK DEHTEETIL,
N [ivsi]linsZELMDT..
minimize E

sum(s in S) sum(i in I) sum(j in I) 2*d[i,j]*x[i,],s];
subject to{
forall(s in S) {// %slot IZHLT
forall(i in I) {// &F—L i I
sum(j in I:i!=j) (x[1,],s] + x[],1,s]) == 1;
};// BRUSNDEF—L j &Home/Away DELLMNT TEIEXETS
}s
forall(i in I) {// &F—L i &
forall(j in I:i!=j) {// BRLUSNDEF—L j £EX
sum(s in S) (x[1,J,s] + x[J,1,s]) == 1;
};// ETHDslotT Home/Away DELLMNT TEIEXETS |
}s v
forall(i in I) {// HHEIEIRELEWLDT B F—LE L8

. . . __ . aﬁ:* —
};sum(s in S) x[i,i,s] == 0;// TDEHZETelC LS Dt AAE

s



AR—Y AR5 1—1)2 4 ZCPLEXTHEL

> T—RI774 )L (srt-diex1.dat) D H B D 5Lk
i max = 6;// team#EmKIE

d = [

05466 8]

50594 7]

(450 4 2 4]

69406 6]

6 4 26 0 3]

8 746 3 0]

1;// BEBEITHI|({EER-1ERDIEREMN R LS, XFITHIIZESD)



SS%CPLEX—GﬂZE( { [ﬁﬁ]@j‘d)qﬂﬁ} squtiJ(J)nE(Rptimal)
- HERRORER / R

B SEIFY.. % - EY . = 8 [HEE Basih (B 2)ELEs DER O IyYy-. WEHEE 5 J0ur
T~
[L-"..-’ solution (optimal) with objective 158]
7 : A Quality Incumbent soclution:
S E // MILP obhijective 1.5800000000:+02
v o 7—45 (5) /7 MILP solution norm |x| (Total, Max) 1.50800e+01 1.000002+00
P d (054668 [505947] Jff MILP solution error (Ax=b) (Total, Max) @.eppaie+ae  ©.R2REE82+20
w "1 // MILP x bound error (Total, Max) @.PBEER:+RE 0.PREEEE+RE
N . | 1.6 J/ MILP x integrality error (Total, Max) 8.00000e+60 O.DBOBE2+D0
'l I_max & // MILP slack bound erreor (Total, Max) @.00000c+00 O.DBBBBo+B0
¥ g 1.5
Elr i o11111 [101111] [ —
EE—p— . = = s\' = ,‘i
v @ [ REER . . . J[ e 88 ool \ 1 %1802 21 { [%};”-Hﬁ*&] }
N 00000 [00001] [00.. 3
[6 8@ 1] _
\_ — ool o (=5X6X6) TR
CEECECR:)
=R g eeaaeae =
BxE{E = 158 06000l |HE BT, BE Zus 2E8 G-
= s peeee
&M (FRBATH) 00005 o _ |
B AR x = [0 100 9] Rt R i
x ﬁq: [ [ [ ] ] ] K j Cplex [ solution (optimal) with Db_iective153]
Constraints 66
s b e a 434 v Vari
X131 1AL -VE, T, Home-Away B fli{E{E |v Vbl 180

Binary 180

TDT, BRIEARIE (KB ENEERE) (X009 BRRETT Non-zero coeffcients =

gljo)égio)iu" ﬁj_é v Mlp{]b_iective 158
(U@'C“CO)EH"JEEIAU:EU*(Q:,“ L\) Incumbent 158

> minimax[CL TE&F— LB BB IFLIC e ening nocs ;
(KR ARFBEEHR/IMEENSIEBRTDZE)  |v solutionpool

Count 1
Mean objective 158




SSHCPLEX CHEL
> ATEIERDMER2

8 EEIFY. B w=-EH % JL-Um.
2&9 158 M
e E
v a6 75 (5)
=y d [054668] [S05
. | 1.6
) i_miax &
¥ 5 1.5
= + 0111111 (1071
v 2 RETEH (1)
' x [[Do000] [0000
|7-5-F2-0F5... |

e
ZDRFIED)yIL
T—AE 1—%RK

T—H-Ea—

1|2y = FlIEV—k
2[B121)v9 = [FIEY—k
3EIZYwT = TDIEICRES

[1%]’&2@7') v LB%JILE‘/—\FTé

ssdi.mod [T] ssdiex1.dat B x '.':Mﬁ &2

ssdi.mod

E ssciex 1.dat

B x D&

g exe | 0 #1xe | s ez, @])
-

KYDAEZDHEITIEDITS
ERFUDRTEIND

X134 1

team1(H) vs 3(A) 1n slot4
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SS’ECPLEX'C“ﬁZl’:( ks
- HEERORE: IIIIIIII

ssdi.mod [ ssdiex1.dat Bl x M 53

B

J @1 |, w1xe|.s @19 | & L 2 C
. 11TEHZ2)vY 3

, D

;B

s F

Home-Away table

O comor | 2 12 15 14

2 3 | H
1 4 B

6 6 50 CDITE=1D=¥&IT] | ° °

5 5 4 0 [ 3 2 E

6 5 3 0 7 Jv 7 F

5 5 2 0 S

6 6 1 0

6 5 5 0

t Excel E AT

AN
g}b ;ig))'c(l._sgﬂjgff [237;3;2]72‘:%:%:5 » Excels— M ZBEY 4t ([Ctri]+[v])

X ZZTCIXF T copy & paste LTHM, T—FT7AJIL[***.dat]IZ, R ZExcel
D—MZEEYLTIT 58 5 EEZE LN TH A (CPLEXIZAZD copy & paste ZanC5)




AR—Y-R4yTa—yyy EEDOEnD

» single round-robin tournament e e
> 6F—LOBBIYBRYT S1—ILEDD ¢ I
> &5 & Home vs Away TES D C
> &F— LBBERONZE BT (HM2) B B
(XS EIERARADTF—LER/ME) D
> IREILRBEDERE (ZFRED)
> 0-1&3 x;,=1 ... slots Tivsj (i A"Home)
> 0-1Z % X =0 ...slots Tivsj(i HHome)Z L7
min. dist
min. maxz Z 2d;x;ijs ‘ o .
JET bt L S. t;; 2d;ix;js < dist
st ) Gyt =1 ETVSES) Y (o sm)=1(weTvses)
ieT/{/} i€T/{j}
Z(xijs +xji5) = 1(Vi,j € T # j)) Z(xijs + xjis) = 1 (Vi,j € T # J))
SES SES

xijs € {0,1}(Vi,j € T,Vs €5) xijs €{0,1}(Vi,j €T, Vs € 5)



AR—Y A5 1—1)2 4 ZCPLEXTHEL

> BT ILI7A)L[srt-di.mod] ZF copy & paste L TIEIE

@D ETILIFZAIL [srt-di.mod] Z3EIR (D) v )
@ [Ctrl]+[c] ZHL T copy

@ [Ctrl]+[v] L T paste

@ %87 [srt-di2.mod] ZA S

®

ETILIF7ZAI [srt-di2.mod] &5 T ILD) VUL THER FEEILE
(XBEERIERR—USH)

> ETILIT7AILEANE X THELC

D FETHER [configl] DETILIFZAILEANE Z THEL
1. [configl] A® [srt-di.mod] ZHll k&
2. [configl] RIZ [srt-di2.mod] % drag&drop
(X T—2TF7AILIXEILH D [srt-diex1.dat] ZF{FES)



AR—Y AR5 1—1)2 4 ZCPLEXTHEL

> ETILIT7AIL (srt-di2.mod) D H D Fe ik
int i_max = ...;// F—LHEDARZFDRKXIE
range I = 1..1i max;
range S = 1..i_max-1;// slot# = team#f-1
float d[I,I] = ...;// BERE#ITH (size: IxI)
dvar int+ x[I,I,S] in ©..1;// 0-1Z#{(size: IXIxS)

dvar float dist;// minimax EFRFHAZE#

minimize

dist;

subject to{

forall(i in I) {// &F—L i OHBHEHZITEL, distTLEMBHIZ S
sum(s in S) sum(j in I) 2*d[i,j]*x[1i,],s] <= dist;
}s

forall(s in S) {// %slot IZHLT
forall(i in I) {// &F—L4L i &
sum(j in I:il!=j) (x[i,],s] + x[]j,1i,s]) == 1;
};// BRAUNDEF—L j LHome/Away DELLMT TE1IERIXET S
¥
forall(i in I) {// &F—L i (&
forall(j in I:il!'=j) {// BRUNDEF—L j L&AR
sum(s in S) (x[i,j,s] + x[j,i,s]) == 1;
};// ETHhDslotT Home/Away 0)&'15'975\( TF’llE‘“WJZT%)
}s
forall(i in I) {// B% \&li*‘lﬁkbﬁb\@f
sum(s in S) x[i,i,s] == 0;// TDOE#HZEEToIC

}s
}s



SS’ECPLEX'C fi#< Bx
nJr%:%“—“%O)EE i (151 - ex1) ﬂﬂﬂﬂ

[[£] ssdi.med [ ssdiex1.dat ([E] ssdi2.med B x D& HIE_]-]—CSIZ%”LE \J_I\
J e | 0 4 Xe ], S (H4X5) | B fﬁo)j—__g |:“:|__

1TEHZVUYY

S o AW NN

L

------ |F—%HLEAS
DI T[E=1D 5 1T]
21)99

A
2
2
3
2
3
3

N N W N W w I

1A 1{E =28
(K KZEIEERED tExcelJ:'G‘?]l]I
teamDFZ BN R )

- Excel> —RZBRY T ([Ctri]+([v])

:nmcnmmcnmcnmcnm-l§-|-lr-.Jr-.Jr-..:l..-.ll..-.l-h-r:-hmm-:n-:n

e S R R O I T L L S ¥ | U'ITJ
e R T = = T = T = = R =T = = . (| —

[fE=1]D 1T (154T=35& X 5slot) N EER
SNT=DT, ZHOIREET [Ctrl]+[c](TE—)
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» single round-robin tournament
» 8F—LDIEFYEBRTo1—IL7EDLb
> 23 A Home vs Away TS

v T—R3774)L [srt-diex2.dat] Z#ERK

> 2 DD BEENENTEWNTHELD

NEFE,OWuul wo

-
~
\'h
Vo

F—R3774 )L (srt-diex2.dat)
i max = 8;// team¥BEZKI{E

| |

0 7]

P wWWwWoOW
w o O W WU
P WO O WWLM
OO0 WO WWw
O b who
SN Uo B ) W @ ) L NU [ )
w 1 N U .'h.

©7660940 4]
2 534 0]
EEf 175

U1

> EF—LEREHREOR/NMEFBEIT[BHR]

vV ETILIF7AIL [srt-di.mod] THEL

> @F—LBEIRBONEIILZB s [B 2]
(XBEEBMAZKDF—LZEx/ME)
v BT ILIF7AIL [srt-di2.mod] THE<




A=y Rroa—yyy EEennnD

» single round-robin tournament e
> 6F—LOWLTYBRr S2—LEDCS ¢ I
> &5 & Home vs Away TES D C
» Home-AwayZ D FLZ L= BRI3]) = B
(3¢ Home or Away# MW Ex KD F— Lz ix/IME) S
> EEEREDER L (TFREL)
> 0-1&3 x;,=1 ... slots Tivsj (i A"Home)
> 0-1Z % X =0 ...slots Tivsj(i HHome)Z L7
min.nha
min. max Xiic ) P . t. i < ) s <
na; {;; ijs SZ;; ]ls} » St;;xjs nha ;;szvjzh;l)
s. t. z (xijs + Xxjis) = 1 (Vj ET, Vs € S) z (xijs + %jis) = 1(Vj €T, Vs € 5)
i€T/{j} ieT/{Jj}
> (rijs + %16) = 1 (Vi € TG # ) ;(xifs + i) =1 VLT €TE#))
SES Xijs €{0,1}(Vi,j € T,Vs €95)

xijS (S {O,l}(Vl,] € T, Vs € S)



AR—Y A5 1—1)2 4 ZCPLEXTHEL

> BT ILI7A )L [srt-di2.mod] Z copy & paste L TIEIE
ETILITF7AIL [srt-di2.mod] Z:EIR (F1)v9)

[Ctrl]+[c] Z#HL T copy

[Ctrl]+[v] ZBL T paste

2 8] [srt-ha.mod] Z A 7

ETILITF7AIL [srt-hamod] &5 T ILY) VUL TCHERBEFIEIE
(KBRS EIRR—DSH)

O®OO

> ETILI7AILEANEZ THL
@D ZE1THRL [configl] DETILI7A L% [srt-ha.mod] [ZL THES

Q T—HIFAIIE6F—L () E8F—L(BI2) FNEFNTHENTHES
vV 1) 6F—LDT—R2T7AIL [srt-diex].dat]
vV 512) 8SF—LDT—RT7AIL [srt-diex2.dat]



AR—Y R a1 —1)2 % % CPLEXTHEL
> BT ILI7AJL (srt-ha.mod) @) B D EC ik

int i_max = ...;// F—LBORZAFDZEKIE
range I = 1..1 max;
range S = 1..i max-1;// slot# = team#i-1 o . e
XKEDETILTIEERITEIE
float d[I,I] = ...;// EEEEITHI (size: IXI) < BN, T—3T774ILER
-\ <hE
dvar int+ x[I,I,S] in 0..1;// 0-1Z#{(size: IXIxXS) ALT=L @Tﬁ%bfﬁ)é
dvar float nha;// minimax ESRFEZE & 1I§IE
minimize
nha; ﬂ%IE
subject to{
forall(i in I) {// F—LiEB®D Home#lawayHzit&
sum(s in S) sum(j in I) x[i,j,s] <= nha;// HomeiX&#ZEnhaTLEMBNZS 1&1E
sum(s in S) sum(j in I) x[j,i,s] <= nha;// Awayii&#ZnhaTLEMBHIZ S z
}s

forall(s in S) {// %slot [ZHLT
forall(i in I) {// &F—L i I
sum(j in I:il!=j) (x[i,],s] + x[J,1i,s]) == 1;
};// BRLUSNDEF—L j LHome/Away DELLMT TEIENEET S
}s
forall(i in I) {// &F—L i &
forall(j in I:il=j) {// BAUSNDEF—L j £&AX
sum(s in S) (x[i,J,s] + x[],1,s]) == 1;
};// ETHDslotT Home/Away DELLMT TELIRIRET S
}s
forall(i in I) {// BREIEXELELDT
sum(s in S) x[i,i,s] == 0;// TDEHZ=E Tl
}s
}s



SSZCPLEX CfZEL e
> ETEFREEROIESE (4] :ex1)
[E=1]THIEY—FrEDT—R-Ea1—

ssha.mod @ sshasxl.dat B x D&

1178 #2979

og- -85 |

== AR e

Home-Away table

team/slot

oA 1]

[Shift]:F_’E*Eﬁ L7&H > 3 A A
CDITHE=1D & HEAT] . » B B
: z - 1 )99 , 3 C A
Z 2 j E 3 2 E E
|« 1 B B (E =3 s o L
. . . o (¥Home/Away R it &

iz Kteam DI EH
: i . 0 A / . Excel LTI
& 5 3 0

[fE= 1]0) T(1597=35{ & x 5slot) B2 ER
SNT=DT, ZHOIREET [Ctrl]+[c](TE—)

» Excel> —RZBRY T ([Ctri]+([v])



AR—Y- Ry Ta—yy  EEEHENE

» single round-robin tournament B A
> 6F—LOBRSIYBRYTS1—)ILEDS ¢ D
> 23 A Home vs Away TS D ¢
> Break#Zax/MeLT=UL B #94] E B

F E D

> sE bR D E e (EFRED)
> 0-1&# x;,,=1 ...slots Tivs; (i BHome) TXE, x,,=0 ... ¥ELZEL

> 0-1%# y,=1 ... team i H¥slot s—s+1 TBreak, y, =0 ... Break TIZ%0LY

| | team i A slotf] s>s+1 T
min. z z Yis S t-z:(xijs + Xijs+1) < Yis T 1(Vi €T) <— Home®Breakh dh B H ?

SES IET JET
Z(xjis + Xjis+1) S Yis T 1(ViE€T) < AwayDBreakM&HHH ?
JET

(xijs + ins) =1 (V] eT,Vs € S)

Z(xijs +xji5) = 1 (Vi,j € T(i # j)) ¥ijs {0,1}(Vi,j €T,Vs €S)
SES vis € {0,1}(Vi €T,Vs €S)



AR—Y A5 1—1)2 4 ZCPLEXTHEL

> BT ILI7A)L[srt-ha.mod] & copy & paste L TIE1E
ETIJLIF7A I [srt-ha.mod] ZEIR (V) v4)

[Ctrl]+[c] Z#HL T copy

[Ctrl]+[v] ZBL T paste

2 8] [srt-ha2.mod] Z A A1

ETILIT7AIL [srt-ha2.mod] X T IV LTHEFRBEIELE
(XBEERIERR—USHE)

O®OO

> ETIVI7AILEANEZ THL
D EITHHE [configl] DETILIF7AIL%E [srt-ha2.mod] [ZL THEL

Q T—HIFAIIE6F—LBHI) E8F—LB2) FNEFNTHENTHES
vV 1) 6F—LDT—R2T7AIL [srt-diex].dat]
vV 512) 8SF—LDT—RT7AIL [srt-diex2.dat]



A

—- R4

5O

Ua—

)24 % CPLEX CHEL

» BT ILIT7AIL (srt-ha2.mod) D H F D FCak
int i_max = ...;// F—LBORZAFDZEKIE
range I = 1..i_max;
range S = 1..i max-1;// slot# = team¥§-1
557][] range SB = 1..i max-2;// slot#-1 XCDETILTIIIEEREITS (X
float d[I,I] = ...;// EBRE{THI (Sijz‘re;k: IXI) <€ IWBIWLD, T—3T7AILER
dvar int+ x[I,I,S] in 0..1;// 0-1Z%#{(size: IxXIXS) .
1I§IE dvar int+ y[I,SB] in 0..1;// 0-1%&%{(size: IxS) ALT=LOTELTHS
minimize
{&1E sum(s in SB) sum(i in I) y[i,s];
subject tof
forall(i in I) {// F—LiEDBreak#iZitE
forall(s in SB) {
ﬂ’kIE sum(j in I) (x[i,j,s]+x[i,]j,s+1]) <= y[i,s]+1;// s»s+1THome®MBreakh‘dHSh
z sum(j in I) (x[j,i,s]+x[j,i,s+1]) <= y[i,s]+1;// s»>s+1TAway®DBreakh‘dHsh
}s5
}s5

forall(s in S) {// %slot [ZHLT

forall(i in I) {// &F—4L i [&
sum(j in I:il!=3j) (x[i,j,s] + x[j,i,s]) =
};// BRLUSNDEF—L j LHome/Away DESH
}s

forall(i in I) {// &F—L i [&

}s

forall(j in I:il=j) {// BHUSNDEF—L
sum(s in S) (x[i,j,s] + x[j,i,s]) == 1;

== 1;
b75"C TE1EIxET 5

j ERR

};// ETHDslotT Home/Away 0)57'5675\'6‘ TE1ERXET 5

}s
forall(i in I) {// BREFXHELLZLDT

};

sum(s in S) x[i,i,s] == 0;// TDEH#HZE=EToIZ



AR—Y =R a—

> sTEHRBROMERE (B :ex1)

0-1Z#y[i,s] DT—3-E1—

0-1Z #x[i,j,s][CDULNT[fE=1]T
BRI —rEDT—2-Ea1—

B x0ig 2 B y D

[E] ssha2.mod

scha.mod

| (H4X6)

B vy D&
SB ...X 4)

(=T 5 T Y N T O T

[ T e T e N e T e e
T T v B o R o Y o T %
SO O = O =S w
[ T e T o T e T e e 8

RIBIE = 4
(%Breakz)

')y’j‘féCPLEX'gg’qK

[fE=1]D 1T (154T=35& X 5slot) N EER
SNF=DT, ZOIREET [Ctrl]+[c] (QE—)

11TTBZED)vD

[Shift] F—Z# LM 5
ZDITE=1D F&ZEIT]
M7Uv7

N W NN W w I

XYL 3 3 3 3 3
team/slot | 1 | 2 [ 3 | 4_
1 i v 4 B
: Kd & BIEN o
; B A DIE
4 FPEVY E C
; A I r
: Dc s DA

(0]

Home-Away tabl

team/slot

- >

- - B0

A
2
2
3
3
2
3

= [ = =1

.ExceIJ:'C‘?J[II

» Excel> —RZBRY T ([Ctri]+([v])



AR—Y R a1—1)> % Zgurobi THEL

> [t1%8 (ex1) % python & gurobi TERIh (T—RERERHD)

# coding: Shift_JIS @
from gurobipy import *

# s GIRAKTE HitHHHH
def make_data_ 1():
1=1[1,2,3,4,5,6]
S=1[1,2,3,4,5]
d={(1,1):0,(1,2):5,(1,3):4,(1,4):6,(1,5):6,(1,6):8,
(2,1):5,(2,2):0,(2,3):5,(2,4):9,(2,5):4,(2,6):7,
(3,1):4,(3,2):5,(3,3):0,(3,4):4,(3,5):2,(3,6):4,
(4,1):6,(4,2):9,(4,3):4,(4,4):0,(4,5):6,(4,6):6,
(5,1):6,(5,2):4,(5,3):2,(5,4):6,(5,5):0,(5,6):3,
(6,1):8,(6,2):7,(6,3):4,(6,4):6,(6,5):3,(6,6):0,
+# EEE

return 1,S,d

X A4FE D FE R1E (srt-di, srt-di2, srt-ha, srt-ha2) T B TES
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> srt-dizE U4k (1)
BB IERER/IME

12D T 74 )L srt-di.pylIZ
DB DIEIZERit L TRE

R e W @
def srtdi(l,S,d):
mod = Model(“single round-robin tournament:Min.TotalDistance")

# EHERTE
x ={}
foriinl:
forjinl:
forsinS:
ifjl1=1i:
X[i,j,s] = mod.addVar(vtype="B", name="x(%s,%s,%s)" % (i,j,s))

mod.update()

# HREHDERE
forsinS:
foriinl:
mod.addConstr(quicksum(x[i,j,s]+x[j,i,s] for jin I if jl=i) == 1)
foriinl:
forjinl:
ifj 1=1i:
mod.addConstr(quicksum(x[i,j,s]+x[j,i,s] for sin S) == 1)

# BHRIBEHDRTE

mod.setObjective(quicksum(2*d[i,j]*x[i,j,s] for (i,j,s) in x), GRB.MINIMIZE)
mod.update()

mod. data =x

return mod

# HHH SE1T HHH @
if _name_ ==" main__":
1,S,d = make_data_ex1() #T—
mod = srtdi(l,S,d) # T
mod.write(“srt-diex1.lp") #1p1
mod.optimize() # Bx 1
print("¥n optimal value =", mod.ObjVa
mod.printAttr('X') # B
mod.write(“srt-diex1.sol") # R EFEZsol J7 A LI ]




AR—Y R a1—1)>2 % Zgurobi THEL

> RITHR
%’L‘*ggjjﬁﬁllﬁﬁﬂ_l]\1t

using up to 20 threads

oL =, 190 integer (150 binary)
e+00]

Ze+(1]
.~+||||]

optimal wva

Yariable

1
1
1
1
1
1
1
1
1
|
1
1
1
1
1




AR—Y R a—1)> % Zgurobi THEL

> srt-di2 E T ($11)
BRI S

12D IT7A I srt-di2.pyllZ
DD IEIZE L TIRTE

# HHH SE1T HHH @

if _name_ ==" main__":
,S,d = make_data_ex1() # 7
mod = srtdi2(l,S,d) #
mod.write(“srt-di2ex1.Ip") #1g
mod.optimize() #
print("¥n optimal value =", mod.Obj
mod.printAttr('X") #
mod.write(“srt-di2ex1.sol")

R S W
def srtdi2(1,S,d):
mod = Model(“single round-robin tournament:Min.Max.Distance")

# EHERTE
x,dist = {},{}
foriinl:
forjinl:
forsinS:
ifj1=1i:
X[i,j,s] = mod.addVar(vtype="B", name="x(%s,%s,%s)" % (i,j,s))
dist = mod.addVar(vtype="C", name="dist")
mod.update()

# FRIEHDRTE
forsinS:
foriinl:
mod.addConstr(quicksum(x[i,j,s]+x[j,i,s] for j in l'if jl=i) == 1)
foriinl:
mod.addConstr(quicksum(2*d[i,jl1*x[i,j,s] for sin S for jin Iif jl=i) <= dist)
forjinl:
ifj1=1i:
mod.addConstr(quicksum(x[i,j,s]+x[j,i,s] for sin S) == 1)

# BRI DERTE
mod.setObjective(dist, GRB.MINIMIZE)
mod.update()

mod. data = x,dist

return mod
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=urobi>| execlopen("srt-di2.py" ). read())
Gurobi Optimizer version 9.5.2 build +9.5.2rc0 (winB4)
== 4= 4+ Thread count: 10 phwsical cores, 20 logical processors, using up to 20 threads
> %TT%E% Optimize a model with 66 rows, 1571 columns and 756 nonzeros

Eodelbﬁinferprin%: UxISad?55U N e }
il A &= ariable twpes: 1 continuous, integer |FEry
*z@-‘lﬁﬁﬁﬁig%"t Coefficient statistics:
Matrix range [1e+00, 2e+01]
Object ive range [1et00, 1e+00]
Bounds range [1e+00, Te+00]
RHS range [1e+00, Te+00]
Found heuristic solution: cbiect ive 380000000
Fresolve removed 1% rows and 0 columns
Fresolve time: 0.00s

Fresolved: b1 rows, 1571 columns, BOB ronzeros
Variahle tvpes: 0 continuous, 151 integer (150 binary)

Foot relaxation: objective 2.633333e+01, 137 iterations, 0.00 seconds (0.00 work units)

opt imal value = Modes Current Mode Object ive Bounds W e
Expl Urexpl (Obj Depth IntInf | Incumbent BestBd Gap | [t/Mode Time

0 26.33333 0 11  35.00000 26.33333 30.7% I}=
] 30.0000000  26.33333  12.2% I}=
0 28.00000 0 3% 30.00000  285.00000 6.67% 0=
( 28.0000000  28.00000 0.00% (s
0 28.00000 0 3b  25.00000  28.00000 0.00% (s

Yariable

(]
]
]
(0
(0

Cutting planes:
Cover: |
MIR: 1
StrongCG: 1
RLT: 1

Feplored 1 nodes (369 simplex iterations) in 0.03 seconds (0.01 work units)
Thread count was 20 (of 20 available processors)

Solution count 3: 28 30 38

P e ol o o e T e T T T T P e M
T O I I e P G O O O D — —

FoOoWD M0 oM MO D R0 ORMDOMD MM MMM

0 P O D0 D O S0 O] o = o G2 T [
0 Pl e O — e Dol — — [l o O] e el [
o e e e e e e e e e e e e
) — b L L L L L 1

o

[
C
=
o
(a0

Optimal solution found (tolerance 1.00e-04)

Best ohjective 2.800000000000e+07, best bound 2.800000000000e+07, zap 0.0000%
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Z#\_\y'Zb-\z\ ;;####*lmi{’f?s##ﬁ##g gUIObI Eﬁtl:s

def srtha(l,S,d): @

> Srt-haE :—Et,“: (16'] 1 ) mod = Model(“single round-robin tournament:Min.Max.Num.H/A")
B 1 4 BT
Home-Away#{153F 1t o
foriinl:
forjinl:
forsinS:
ifj1=i:

X[i,j,s] = mod.addVar(vtype="B", name="x(%s,%s,%s)" % (i,j,s))
nha = mod.addVar(vtype="C", name="nha")
mod.update()

#HREHEDHTE
forsinS:

12D T 7A )L srt-ha.pyllZ foriint:

. mod.addConstr(quicksum(x[i,j,s]+x[j,i,s] forjin I if jl=i) == 1)
@@@@JIE‘:EEJL_RL't{%ﬁ foriinl:

mod.addConstr(quicksum(x[i,j,s] for s in S for j in I if j!=i) <= nha)

- mod.addConstr(quicksum(x[j,i,s] for s in S for j in I if j!=i) <= nha)

# i AT e @ forjin I
if _name_ ==" main__": if j 1= i:

1,5,d = make_data_ex1() #T mod.addConstr(quicksum(x[i,j,s]+x[j,i,s] for sin S) == 1)

mod = srtha(l,S,d) #ET

mod.writ.e(f’srt-haexl.Ip") # Ig?ﬁ # BEHOSE

mod.optimize() # B mod.setObjective(nha, GRB.MINIMIZE)

print("¥n optimal value =", mod.ObjVa mod.update()

mod.printAttr('X') # Bx2 mod. data = x.nha

mod.write(“srt-haex1.sol") # B return mod



AR—Y R a1—1)>2 % Zgurobi THEL

> RITHER
Home-Away #1593 1b

zurobi> | exec(open(“srt-ha.pyv”). read())

Gurobi Ustimizer version 9.59.72 build +9.5.2rc0 (wirB4)

Thread count: 10 phwvsical cores, 20 logical processors, using up to 20 threads

Optimize a model with 72 rows, 151 columns and 917 nonzeros

Mode| fingerprint: (xBaealbec

Variable tvpes: 1 contiruous, 150 integer (150 binary)

Coefficient statistics:
Matrix range [Te+lD, Te+lD]
(bjective range [le+l0, 1e+00]
Bounds range [Te+lD, Te+lD]
RHS range [1e+00, Te+lD]

optimal valus = 3.0 Found heuristic solution: chiective 4.0000000
Presolve removed 15 rows and 0 columns
Variab|e Presolve time: 0.00s
Presolved: 57 rows, 1591 columns, 762 nonzeros
Variable twvpes: 0 contiruous, 1571 integer (150 binary)

Foot relaxation: objective 2.500000e+00, 87 iterations, 0.00 seconds (0.00 work units)

Modes Current Mode Object ive Bounds Wl
Expl Unexpl Obi  Depth Intlnf | Incumbent BestBd  Gap | [t/Mode Time

0 Z.50000 0 7 400000 @ Z2.50000 37.5% - 0s

(0
(0 ( 3.0000000  2.50000 16.7% - 0s
(0 0250000 0 7 3.00000  2.50000 16.7% - s

Fxolored 1 rodes (248 simplex iterations) in 0.03 seconds (0.00 work units)
Thread count was 20 (of 20 available processors)

Solution count 2:03 4

L e B e e e e e e e e A e A A T

Oetimal solution found (tolerance 1.00e-04)

Best objective 3.000000000000e+00, best bound 3.000000000000e+00, gap 0.0000%
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> srt-hafE =1k (4511)

Break# &z /]ME

12D 774 ) srt-ha2.pyllZ
D@D IBIZERk L TRTF

# HitHHH SE1T HiHHHHH

if _name_ ==" main__":
,S,d = make_data_ex1()
mod = srtha2(l,S,d)
mod.write(“srt-ha2ex1.Ip")

mod.optimize()

print("¥n optimal value =", mod.Obj

mod.printAttr('X')
mod.write(“srt-ha2ex1.sol")

€)

# 7
#
#lp
# By

N
S5
-

H
H

# #taE TF VAL #HsdH
def srtha2(l,S,d): @

mod = Model(“single round-robin tournament:Min.Break")

# EHERTE
xy = {hL{}
foriinl:
forjinl:
forsinS:
ifjl1=1i:
X[i,j,s] = mod.addVar(vtype="B", name="x(%s,%s,%s)" % (i,j,s))
for siin range(1,len(S)):
yl[i,s] = mod.addVar(vtype="B", name="y(%s,%s)" % (i,s))
mod.update()

# FRIEHDRTE
forsinS:
foriinl:
mod.addConstr(quicksum(x[i,j,s]+x[j,i,s] for jin I if jl=i) == 1)
foriinl:
forjinl:
if j 1=1i:
mod.addConstr(quicksum(x[i,j,s]+x[j,i,s] for sin S) == 1)
for sin range(1,len(S)):
mod.addConstr(quicksum(x[i,j,s]+x[i,j,s+1] for j in | if jl=i) <= y[i,s]+1)
mod.addConstr(quicksum(x[j,i,s]+x[j,i,s+1] for j in I if jl=i) <= y[i,s]+1)

# BRI DERTE

mod.setObjective(quicksum(y[i,s] for (i,s) in y), GRB.MINIMIZE)
mod.update()

mod. data =x,y

return mod
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> EITHER

Break# &% /IME

optimal value =

surchi> execlopen( srt-ha?.py’ ). read())
Gurobi Optimizer version 9.9.7 build v9.59.2rc0 (winkd)
Thread count: 10 phwsical cores, 20 logical processors, using up to 20 threads
et imize a model with 108 rows, 174 columns and 1128 nonzeros
Mode| finzerprint: OxdecdZdhe
Variable twpes: 0 continuous, 174 intezer (174 binary)
Coefficient statistics:
Matrix ranse [1e+l0, le+l0]
Objective range [1et00, 1=+00]
Bounds range [1e+00, Te+t00]
RHS range [1e+00, Te+00]
Fournd heuristic solution: objective 10.0000000
Fresolve removed 1% rows and 0 columns
Fresolve time: 0.00s
Frezolved: 93 rows, 174 columns, 978 nonzeros
Variable twpes: 0 continuous, 174 intezer (174 binary)

Foot relaxation: obiective 0.000000e+00, 87 iterations, 0.00 seconds (0.00 work units)

Modes Current Mode Object ive Bounds Il
Expl Unexgl Obj Depth IntInf | Incumbent BestBd Gap | [t/Mode Time

0.00000 0 37 10,00000  0.00000  100%

6.0000000  0.00000 100

0.00000 0 60 600000  0.00000 100%

1.50000 0 38 6.00000  1.50000 75 0%

40000 0 38 B.00000  1.50000 V5.0

50000 8 37 6.00000  71.50000 Vh.0%
3

s

i _
‘I -
2.00000 36 6.00000  Z.00000 6B.7% -
40000000 Z.66BB7  33.3% 15.8

|t Ko o ¥ o - ol s

L

J—

Farlored 24 nodes (1109 simplex iterations) in 0.05 seconds (0.03 work units)
Thread court was 20 (of 20 available processors)

Solution count 30 4 6 10

Dt imal solution found (tolerance 1.00e-04)

Best chiect ive 4.000000000000e+00, best bound 4.000000000000=+00, gap 0.0000%



